TRUNNION BLOCK PARTS LIST

Cover Screw

Bolt 1/4-20 x 3/4

Bolt 3/8-16 x 1

Bolt 3/8-16 x 1

Bolt 3/8-16 x 1

SERIES 25 30 35 36

1 |End Cap (Open)Angle L010-045-002 L010-001-005 L010-006-005 77002832

2 |Bearing Pin L010-045-008 L010-001-003 L010-001-003 77002833
3 | Trunnion Block L010-045-001 L010-001-001 L010-006-001 T7002829
4 |Collar L010-045-006 L010-001-009 L010-006-009 L010-006-009
5 |End Cap (Blind) L010-045-010 L010-001-010 L010-006-010 17002834
6 |Bail Pin L010-045-005 L010-001-008 L010-006-008 L010-006-008
7 | Trunnion Bearing L010-045-007 L010-001-004 L010-006-004 77002830
8

9

Bail Pin Screw

Bolt 1/4-20 x 1-1/2

Bolt 3/8-16 x 2

Bolt 3/8-16 x 2

Bolt 3/8-16 x 2

10|Bail Pin Nut

Lock Nut 1/4-20

Lock Nut 3/8-16

Lock Nut 3/8-16

Lock Nut 3/8-16

11|Grease Fitting P07-0082 P07-0082 P07-0082 P07-0082
12|Cover Washer Lockwasher 1/4" Lockwasher 3/8" Lockwasher 3/8" Lockwasher 3/8"
13[End Cap (Open) L010-045-004 L010-001-002 L010-006-002 T7002831
Complete Assembly L010-045 L010-001 L.010-006 T7002836
SERIES 40 50 60 70

End Cap (Open)Angle

L010-011-005

L010-021-005

L010-027-005

L010-058-005

Bearing Pin

L010-011-003

L010-021-003

L010-021-003

L010-058-003

Trunnion Block

L010-011-001

L010-021-001

L010-027-001

L010-058-001

Collar

L010-011-009

L010-021-009

L010-027-009

L010-058-009

L010-011-010

L010-021-010

L010-027-010

L010-058-010

Bail Pin

L010-011-008

L010-021-008

L010-027-008

L010-058-008

Trunnion Bearing

L010-011-004

L010-021-004

L010-027-004

L010-058-004

Cover Screw

Bolt 3/8-16 x 1

Bolt 3/8-16 x 1

Bolt 3/8-16 x 1

Bolt 1/2-13 x 1-1/2

1
2
3
4
5 [End Cap (Blind)
6
7
8
9

Bail Pin Screw

Bolt 3/8-16 x 2

Bolt 3/8-16 x 2-1/4

Bolt 3/8-16 x 2-1/2

Bolt 3/8-16 x 2-3/4

10|Bail Pin Nut

Lock Nut 3/8-16

Lock Nut 3/8-16

Lock Nut 3/8-16

Lock Nut 3/8-16

11|Grease Fitting P07-0082 P07-0082 P07-0082 P07-0082

12| Cover Washer Lockwasher 3/8" Lockwasher 3/8" Lockwasher 3/8" Lockwasher 1/2"
13|End Cap (Open) L010-011-002 L010-021-002 L010-027-002 L010-058-002
Complete Assembly L010-011 L010-021 L010-027 L010-058




